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SUBJECT : ENGLISH

Reference Books:
1. English For Today - Published By NCTB

2. Advanced Learner's Functional English Grammar

Chowdhury & Hossain.

1" & 2™ Monthly Test Marks Distribution

Seen passage

Question Question Types Marks
1. True/false. 1 x4=4
2. Matching/Fill in the blanks 1 x4=4
3. Question answer 2x2=4
4. Paragraph 8x1=8
Total 20

Half Yearly & Yearly Exam Marks Distribution

Question Question Types Marks
1. Match the words in column A with column B 1x5=5
2. True/False. (No need to write correct answer) 1 x6=6
3. Answer short questions. 2x6=12
4. Short composition. (No alternative) 10
5. Fill in the blanks with given words. 1 x5=5
6. True/false. (No need to write correct answer) 1 x6=6
y Answer short questions. 2%x5=10
8. Write simple personal letter 10
9. Make five WH questions. 2x5=10
10. Instruction based question answer. 1+2+3=6
11. Fill in the gaps with time sequence. 1x5=5
12 Rearr'fmgemcm of words to make 2%5=10

meaningful Sentences
13. Form completions. 5
Total 100
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1" Monthly Test Syllabus
I. English For Today: Unit (1-14)
2. Grammar: Sentence (definition, classification, identification),
Parts of Speech (Noun, Pronoun, Adjective), Number. (a) Tense -
(Present All), (b) Right from of verb, (¢) Punctuation, (d) W/H
Question

3. Letter writing:
a. A letter to your father requesting him to send you some
money for buying some books.
b. A letter to your friend inviting him to join a picnic.
4. Paragraph: My native village.
Half Yearly Exam Syllabus
1. English For Today: Unit 1-22.
2. Grammar: Sentence (definition, classification, identification).
Parts of speech (Verb, Adverb, Preposition, Conjunction, Interjection)
Strong verb, Number, Tense-(Present),
3. Re-arrange
4. Letter writing: Revision,
5. Short composition: My native village, Newspaper, Birds of
Bangladesh.
6. Form completion.
2" Monthly Test Svllabus
1. English For Today: Unit (23-32)
2. Grammar: Weak verb, Tense (Past Tense). Gender. Letter writing:
a. A letter to your friend about your aim in life.

b. A letter to your friend congratulating her/him on her/his
brilliant success in the final examination.
3. Paragraph: Your favourite game.

Yearly Exam Syllabus
1. English for Today: Unit 23-42.

2. Grammar: Weak verb, Punctuation & capitalization, Use of right
form of verbs, Tense (Future Tense), Gender.

3. Re-arrange.

4. Letter writing: Revision.

5. Short composition: Your favourite game, The Rainy Season,
My Family.




SUBJECT : ENGLISH

Reference Books:

1. English For Today - Published By NCTB

2. Advanced Learner's Functional English Grammar
Chowdhury & Hossain.

1 & 2" Monthly Test Marks Distribution

Seen passage
Question Question Types Marks

True/False.

Matching/Fill in the blanks
Question answer
Paragraph

Total 20

Half Yearly & Yearly Exam Marks Distribution
Question Question Types Marks

Match the words in column A with column B 1x5=5
True/False. (No need to write correct answer) 1 x6=6
Answer short questions. 2x6=12
Short composition. (No alternative) 10

Fill in the blanks with given words. 1 x5=5
Re-write 2x5=10
Matching 2x3=6
Make five WH questions. 2x5=10
Write simple Personal letter 10
Instruction Based Q/A 1+5=6
Grammar 20
100
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